SUMPO SuMPO EPD SUMPORRIRSAI IO S A

E P D N _ — A FEEAY ATV RE
‘o AAAAA HSA4TNBEEE (EPD) ERABFRERAEET-14-8
VERIFIED KANDA SQUARE GATE
TIXES ¢ JR-AW-24027E https://ecoleaf-label jp

— A & i i b &1 £

Vo ACSTHBRA S WANERE 89 - BHNE

(M2 Ii54%)
DAIDO STEEL CO.LTD. Mechanical Structural Steel Bar and Wire

Rod (Products in Chita Plant)

BEH{L ERBS JR-AW-24027E
{BFAPCRES PA-180000-AW-05
Lt PCR%& iR (EEAZER< ) (Rt )
BEEXSRERE VNG| =] 202448H29H
=) m PfERA RIAFSIBA  202457H248
[EAARIEE - BXERRS. EREEERRS. MiEE REEA ElFRBIRIES T
RIIES IV-AW-24027
IREEEHAR 202967823
HROBN, TELE - 58 PCRLE1—DEitE
BEH N B TH SRERZ% 20234 58 108
PSRBT « HAASIS PSR (k3R 5 - A S0E - AT ) HEE WE &=th
(E724F4& 1 SC. SCM. SCR. SNCM) (FEAS)
AR - B X(BEAImm) - L
B=HRE*

i BE p16~p88 &= 3600~7000
R4 B @5.5~p48

SEMREES A Msh

ISO14025(CHE > TeABEERUT —4 DML UTiR3E
OREs mShER

*S 257 NRE R R EBEARNDIRTIORE . S AT AR EITD
JEEBRBDERIZ .

BLWabhtsx

KEFFAHIRIN St ESGHEERHESD MBKIRIEXSRIEESR

TEL : 052-963-7512

https://www.daido.co.jp/

EixES : JR-AW-24027E


https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/
https://www.daido.co.jp/

SuMPO

EPD

AAAAA

VERIFIED

SuMPO EPD
1T NRBEES

(EPD)

BFRES . JR-AW-24027E

SUMPOIRIESAILTOI S A
— B FEAY AT IR HEE S
HRBTREXAHHE-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

O34 TYA DIz EFHFER

0% 20% 40% 60% 80% 100%
SURZEE) IPCC 2013 GWP 100a 1100 |kg-CO2eq
v 1.0 |kg-SO2eq
EXRE 0.016 |kg-PO43-eq| 1
B QFEARIEIE - 8%k B Q4E
iR B3y =1 ommume -wmx|  QEEE MiEzE
SURZSH) kg-CO2eq | 1.1E+03 | 3.1E+02 | 7.9E+02 2.1E+02
V> EhgiE kg-CFC-11eq| 4.5E-04 || 1.5E-05 | 4.3E-04 3.8E-08
FS 1AL kg-SO2eq | 9.9E-01 | 3.6E-01 | 6.3E-01 3.2E-01
HACEAFZSF> - kg-C2Hseq| 1.7E-02 || 2.7E-03 | 1.4E-02 4,5E-02
EXREL kg-PO43-eq| 1.6E-02 | 1.1E-04 | 1.5E-02 3.8E-03
@) EAE AT QOMBAIMNOYIE CEE 9 D1EhYh)
1=} Bi{yy A - ME (ERSD) =21y
IEBLETEEESR -8.5E+01 kg Fe =90 %
IEBERRETRILF— 1.6E+04 MJ C <0.61 %
BETREESR 3.0E+02 kg Si =0.35 %
BAErfETRILF— 3.7E+03 MJ] Mn =1.65 %
KIKDHEE 3.7E-01 m3 P =0.030 %
Si =0.035 %
Ni £4.50 %
Cr =3.50 %
Mo =0.70 %
Cu =0.35 %
@Y BEE RS
=] BH{y]
BEFRZEY 0.0E+00 kg
EERZEY) 8.1E+00 kg
—RRBEEY) 1B 6.9E-10 kg
FEEEREZEY) 1B 8.1E+00 kg

KSATHADIVCHB T BREMEERUTNET,



SuMPO EPD SUMPORIESNITOI 5 s

SuMPO _ — A EE A Y AT F TR S HE S
N ..E PD s47nmses (ePD) FARHT RERRHET-14-8
VERIFIED KANDA SQUARE GATE

ZES . JR-AW-24027E https://ecoleaf-label.jp

OBEMRICET DEMRH

DEERE L UT, JIS Q 20915(CE D EKMMRIDU B A DILHRZFHEL. OS5 TY A J)LszEiHMlifERMERERD
s &Y (C(CznfEZics Uiz, stBRICERULIZVUY A DILEFI3.0% EHEIFIIS Q 20915(CHEL). 2018FED
ERT—4 (H# : BAREKIER, $HRBS. AF-ILEUYCDILGR) Z2ER)

QRIS YT . ROBHDSDEAGRCDNTI(E, PCROEES FUAICHEDTZ.

3)OMRIRUMEICEE T DML (CDUVT. SKESHIMR ER D ERHMRIBDR ERIED S ERADEDERT .
BU. BEHEICBVWTBEMAD (CHITDHDEEENI0%UT(CRD T LR, MBS DIEENBEEND.

4)—RFT—4(32021F18~2021F5ADEEE=ZFEA LIz, BHREM(G 18, BAT, 2018FE ] #FERA L.

5)ARS — FOBERROMRIE, MZTHCHWTELECK D TRESNHETNDHMBSHIRR (IREQLDIER
fifE(d. SC. SCM. SCR. SNCM7x&) DFIETHD. HRBCHRDNUS A ITTA D)Lz EHBfER RIS,

©-1. € DMDRIEREEH

1) ISO1400158ETIH TEEL TS,

(12 T35] ¥IOEiRE : 199862H20 REME:BAREF 1 - TRt BiRES:E022
6 SEVYIEICES I 6%k

IHH CAS No. ERE

N>H 7439-96-5 FBLEEEEER

—wob 7440-02-0 HBLEEEE

o0LA 7440-47-3 FHBLZEEEE

TEUIFT> 7439-98-7 FHBEEEE

] 7440-50-8 FBEEEEL

QERUEZRT—IDERT
IDEA ver.3.1.0ZfA LT, &z, X095y TREAM(ROS5 YT LCL)BREATESIRES : IP-A)-0001 /A U,

0T —FHEDSEE. PCREBKIUEE - EEMREESBLUTIIZE,
OLLRI(C DT (E. BE - EEMRBRICRESNIZEHZHIEUIEBEICUNRHSNE R A,
(B85 URL : https://ecoleaf-label.jp/regulation/)

BiRES . JR-AW-24027E



